Scissors Scissors Everywhere
Possible Solution

	Time
	Number of Pairs of Scissors Taken from the Rack
	Number of Pairs of Scissors in the Rack

	8:00 a.m.
	
	


	10:00 a.m.
	

	


	12 noon
	

	


	Afternoon
	

	


	End of the Day
	
	15 or more pairs of scissors remain at the end of the day




The inequality  models this scenario.

Extension would be to solve the inequality and examine reasonableness of answers. 




There had to be 57 or more pairs of scissors in the rack at the beginning of the day.  But not all quantities in this range would make sense in the context of this problem.

Possible answers might include
	Time
	Number of Pairs of Scissors in the Rack (option 1)
	Number of Pairs of Scissors in the Rack (option 2)

	8:00 a.m.
	60= 30+30
	90=45+45

	10:00 a.m.
	30=10+10+10
	45=15+15+15

	12 noon
	20=4+4+4+4+4
	30=6+6+6+6+6

	Afternoon
	16
	24

	End of the Day
	15 or more pairs of scissors remain at the end of the day
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